5) a) x* ¢4

X ¢ +4 X €(2; + o0)
6) x*<9

X<%3 X€ ( - oo; -3)
g) x<t V5 Xe (-o0; V5 )
r) x> V12 xe (V12 ; +oo)

6) 6) x*(2x*+x)-15=0
x> 15=0 2x°+x=0

x=+ V15 N x(2x+1)=0

1
x=0, unn x=- »

x'+1 5(x°+x) x*+1+5x°+5x%° X’ (x+5[x+1/+1)
B) 2 + X = Xz = Xz

= X+5x+5+1-

38=6x-32

6x=32

16
X= 3

r) x3(6x-5)-x(38x-5)+6=0

(x*-x)(6x-5)-(38x-5)+6=0
X(x-1)(6x-5)-(38x-5)+6=0

x+6=0 nnu x>-1=0  wum 6x-5-38x+5=0
x=-6 x=*1 x=0

n) x*(x-5)+10x(x-1)+4=0

(x*+10x)(x-5)+(x+1)+4=0
x(x*+10)(x-5)+)x-1)+4=0

x+4=0  wnau x+10=0  wam  x-5+x-1=0

X=-4 X=% V10 X=-3



e) (X*+2x-x-2)(x*+4x+3x+12)-1=0
(x*+x-2) (x*+7x+12)-1=0
XH7CHI2PHC+HT XA+ 12X%-2X2 14x%-24-1=x*+x*+36%*-14x-25=0
X*+2x-25=0
X(x*+2-25)=0

x=0 wmm x>-23=0 wuam x+1=0 wmnun 18x-7=0
- 7
x=t V23 x=-1 X= 18

3x—3—-1 3x—4
3. x—1 = x—1

3x-4<0

x-1<0

4
X< 3

x<1

xe(-00;1]



